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QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions.

There are EIGHT guestions divided in TWO SECTIONS and printed both in HINDI and m
ENGLISH.

Candidate has to attempt FIVE questions in all,

Question Nos. 1 and 5§ are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each Section,

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided.
Mo marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to and if answered in much
longer or shorter than the prescribed length, marks may be deducted.

Graphs/illustrations, wherever required, may be drawn/given in the space provided for answering
the question itself.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum- Answer Booklet must be clearly struck off.
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1.(a)

1.{b)

1.(c)

1.(d)

1.(e)

2.(a)

2.(b)

2.(c)

3.(a)

3.(b)

qus ‘A’ SECTION *A°

Trafefian weis wea & 997 & 150 et # ifo .
Answer the following questions in about 150 words each : 10=5=50

w1 9 = fEw % vema T s st T afnfeas it = s
WA & Sz & W aefermen § agw A 91 ¢ SR = |

Do you agree with the view that the objective of industrial and commercial
policies of British was to transform India as a complementary economy uf
England 7 Give reasons,

4, &, AR, 41, 7 A AE & mﬁ%@%n@ﬂmmﬁﬁmmﬂuﬁm
q7 7

How did V. K. R. V. Rao improve upon the earlier national income estimates of
India ? 10
fafesr s A, el aferm wwe @ ey ‘o Baw & a @ wen o 2
How did Gold Bullion Standard end with “ratio controversy' in British India? 10
we fifad 6 ag-ammh frdaen gt @ e war afiwam fen s
Explain how multi-dimensional poverty index 15 computed. 10
g & fafmio fm & aqu a0 afmen w faw 3 vy ol

Elaborate on the phenomenon of ‘missing middle’ mn Indian manufacturing sector.

10
ot iy = (Wi o deeiz) ¥, N T R wEafem A wem & o,
Fami w1 g Hif |
Examine the features of permanent land settlement as introduced by Lord
Cornwallis. 20
T AT & WRH % 991 o oE WG H 9E el & aEe ATE e e
#fard |
Explain the problems faced by jute mills in India during the early years of their
existence. 15
‘fafew wHE & TEEEIET WA T ACIEEE g | T ST HeRd € 7 A9 TR %
o H R Ha |
“‘British rule led to India’s underdevelopment’. Do you agree 7 Give reasons in
support of your answer. 15

URE # UL AW H e s 8 wetaa g au fifieet @ owe
et |

Reflect on issues and implications of structural transformation in India’s national
income. 20

TR I AR -FeAeaEaT Fed & Wy H, Wi gun) i A S e wE
AEHIE T ?

How would you justify the policy of land reforms in the light of the
farm size - productivity debate in India ? 15
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3.(c)

4.(a)

4.(b)

4.(¢c)

5.(a)

5.b)

5.(c)

5.(d)

‘=T HEEa AEE A & WHE AtaaE A wE gEs W o9ws Hieat &
fazamm iy

Analyse the salient features of “interest subvention scheme” and its implications on
the farm sector. 15

a9 =7 B S T SREE SR W & e e i T AE weel W
fropoft Hifera |

Comment on the new imitiatives taken by the government to facilitate investment
and ease of doing business. 20

TUoe Yge @9 o WHG % JaR-"gE g6 OSSN Sioem, Tsal 6 A |
waEnite e w1 T Fe F g awmdE e @ shem @ R o= e
Hewd § 7 F gang

The chequered fiscal history of India of the last fifteen vears has been a saga of
fiscal prudence on the part of the States and fiscal profligacy by the Centre. Do you
agree 7 Give reasons, 15
WRE # gERER sEfy § il wefy, s vE ffae & e e W e
Zrferd |

Reflect on the relationship among economic growth, inequality and poverty in the
post-reform penod i India. 15

Hug ‘B’ SECTION B’
Frefafigs woirs wem =1 T s 150 =St § i

Answer the following questions in about 130 words each : 10=5=50

T A9 ge @ T ‘we ||w =mndt s it & fEe e gareEt & feee
4 aftm @ ® 7w A |

Do you agree that MGNREGA has been plagued with rampant malpractices, leakage
of funds and diversion of resources 7 Give reasons. 10
& I FY e Fit W vl v | sl fEfadee & s wed W o
7t W qfiEst fifm |

Horticulture is now the growth driver of Indian Agriculture. Discuss the issue in the
broad context of rural diversification. 10

i # oggdier-gd safy @ el @ fel dew & oahe deeen @
HATAEATCHS G =hifad |

Critically examine the relative contributions of public and private sectors in the

pre-liberalisation period in India. 10
wwwEn T wra # S O & weve 1 e s vieenfEa fean s =i |
Explain why the use of organic farming should be encouraged in India. 10
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5.0e)

6.(a)

6.(b)

6.(c)

Tda)

7.(b)

T.(¢)

8.(a)

8.(b)

8.(¢c)

"_1:- PR S
s ffmio S = fr R SRR Hafs % SR & 0§ welika
i o

How can the organised manufacturing sector be revived as an engine of inclusive
growth 7 10
a7 319 G & F v % o a8 e feeem 6wl weees @ R 7
AT H e g @l 3§ e aiae & g fegm o (98 A9) g |

Do you agree that fiscal slippage in the recent past is structural in nature 7 Also
suggest road map for fiscal consolidation in the next few years. 20

wrE & A i w1 vsafEba de i et % fo os wme wen w6 e
2 | =0 oM W £ 7 o gue A gfe F fom www wege @i

The state-controlled section of India’s banking sector continues to be a major
problem for policy makers. Do you agree ? Give reasons in support of your answer,
15

T o Frew & wfte wify @ Wt Sy o difie v o 7 s 3 e st
grfad |

Do you think that the green revolution had limited impact on Indian agriculture ?
Justify your answer. 15

fepderon semafy wfierdt s Srfad il wfen o e (Hee) st s
#En TR R | TH A o GEdd B SR wegd Sy |

Demonetisation has been a radical and unprecedented step with short-run costs and

long-term benefits. Give reasons in support of this statement, 20
wied # FgrRia-gd s i fredae weed awe v s

Throw light on the poverty debate in the pre-liberalisation era in India. 15
Hifr s $r T wRE § R wer aEe afder @ afefds e e
oz hifom |

How the setting-up of NITI Aayog has changed the planning perspective in India ?
Explain. 15
w1 W favama 2 i wwa # adam offErfet & ade gl e gfedHt e
2 7 mysr shife |

Do you believe that capital account convertibility is feasible under the present
circumstances in India ? Explain. 20

‘B’ & wg st =1 oo Fif | o arm # aw @ aRum deE = e
UFRE WHE =@ & 7

Describe the salient features of TRIMS. How has it impacted the textile and
clothing sector in India ? 15

fresit drwifer faw (uw. G @) o faesht wemew Fdw (ow, #1 amd) = R
TR T & A ik 7 = wEy 7 e § ggel w faht Hif |

Why should FDI be preferred over FPI ? Comment on government’s initiatives in
this respect. 15
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